PE-AMBRERGESERDESTE —HX(AR-1)

FERE254E 108 —8pkET

PE-AMBREEREERERGESH — KL (AR —2)

ERL25HE 108 —&fekiT

[(#eme | #azwonna | [FE] A@ B- ] B==a ] | o | Fpocopun | [frwl WaX- || #58e | |
% & |[ENRALLIRRIGAFTHY B3 = i B !
FHEEXEERE | 750 | REERE+ED | e | BESEBROSE | oo el N E,Emmfﬁ EM EM@
#_ A® [ 100A/7 ke 15O EH B "o|Eaas BoRoR (o0 gézéj‘f NI Y

== = e | e | me-ze-g i BA(F 3% 7235 | EA_|WOREMT
o * Bt |T747—0064 LORFAFMAFEH226%F1 = = 11‘21 =R —
B 4 F RE H= EELE] s A | TBEEEN | 700008 - :
LEMABERS | 1008 | GEERESAR | wus [ REEAA | THss4R4E i e 555 | @A
it £ [#HAsEt 8N #HEN 5 INEB 5.53 A
i * At |T747—0064 UORBFEMRFEFH226F1 6 KEH 1.35 A
BEES 0835—26—6298 | #8%4&E | HE B= | e-mail | fukuhachi@sage.ocnne.jp 7 B 075 | EM
¥ E B 5 R & 7 L L % - % = - ffjft’“a — 2;
(%&llﬁﬁRliEJdiﬁnnﬁﬁﬁkfnﬁqu;EIf@i'EEI)\) FLILEX—WMESR P ——_— (2'89 = TR = Y
EAE | EHHE | HE7&E | 0208 E %) " R B 052 ER
I %)L F — 164 ikcal | [ 1 |/hE moEIf Ok 12
K o) 505 ig 2 XK= NoEFOE 13 BiE 0.50 Eafey
- A CH 15.0 ig 3 e 2 TES| 14 b 0.29 A
B B 69 ig 4 15 Bt (O— R FRARATH5)) 020 | #A
B Ok & ® 91 ig 5 16 AT 009 | ®WA
X Iy 15 ig 5 17 AU e —~ 0.02 WA
AR oyl ol e |
o g Bl
BH 24 12 pos | LB 20 BRIFR 001 | #A
Bl 2 & 10 me |19 21 BFRABE 000 | EMA
Ed7AE SLZ0r VN 8img | |10 22
L > 60 img | |11 23 X5 036 | EH-#A
% 0.7 img | 12 24
E i 10 img | |13 25
L F /77— 0 Biug | |14 26
B-hOF Mg Olue | |15 27
LF/ —LuE 36 | 4g | X1 @EIE. MIBAI DA Fr—A—N\—HIEET B7LILE— 2t
E % = > Bl 002 img ME L ETDREFHHE 24
E 24 = » B2 007 {mg i3] R Bl BA g?
E % = > © 1 img | [IORDORE. [0FCEIS R I BRI EMBALDIOF T
EhunEE 00 | ImTCciag . AABDHETONTT . LORGBE IS EMRA 5
! o BB ° ROEEToVFTRMEMNL 33
(35 K% %) 00lg | [PIERFTEKIIE, o
(5B F &) 00ig 35
BIEHE S E 1.2 g 36
B OE E 0!% 37
B & = ' R 7F EF & ] i psl b 22

— e 4 3000LLF RIFRE R BRSO & WERZO 40

AIBE RafE BERE 15 CuUT| | AERAHG FERXS@ o

TEORE g | 1 & = 170~180°COHDPIZAREDIKETIF X H 42

: - VIERALT. 945008 M 54530115 1FE

E.coli AEMR B | |9, szlonud-THEENRYTT, L.

HILESD 44

I Mt KRR O-157 =3¢ £ R 45

JAST—% = i
BEY—Y = L
— % % = =
O OE E ) 50
it =E | ¥ o' B Nk = 100.00




